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Please do both questions. To receive full credit, you must show any work you do to arrive at your answer.
1. 
If the prevailing 6-month interest rate in Switzerland is 4.7%, and is only 2.8% in the U.S., what is the predicted change in the value of the Swiss Franc over the subsequent six month period?
a. If this change prevails, show that the returns in the U.S. and Switzerland are the same.  Demonstrate this using a $20 million investment.

b. What might get in the way of IRP precisely working? 
2.
Suppose the current $/B₤ exchange rate is $1.56/₤.  The inflation rate in the 
U.S. is projected to be 4.6% for the year, while it is expected to be 3.2% in 
the U.K.  Right now, a consumer can be the same car in the U.S. for $26,000 
that costs ₤16,667 in England.

a. What is the project cost of the car in the U.S. and U.K. by the end of the year?

b. What change in exchange rate is projected by PPP?

c. Demonstrate that the two cars will cost the same at the end of the year if PPP holds.

Part II – Give two major reasons why PPP does not hold.

